EAGRAROBREERT — 2 N— ABISH —F

202011148 (+) 3E4EE5H

mﬂi%Sﬁi 18752 [HEFE] T2 \ [X2) 7 \ (il — | 4 (5) 1500 &
[x&<£] 1 % :7,600,000 @ ~ 23 :3,000,000 3 3#:1,900,000  ~ 4 3 :1,100,000 § ~ 5 #& :760,000 M
BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
*HYF # 3 saﬁlﬁiH 1:(0_9).6 8-6 37.2| 93.8 | 4 <5+344) ja\%gi)
LT TIVRR BB H/ F14T7—X HREMHFB LA/ 77— L4
®')t¥ [B] 4 g%%k 1(:30/94.)8 139 [36.9] 92.0 | 11 :;3) %E;Z% E3 )
R:TLLFFE2Tc Bi¥xAvLqa BEZ %Y K
a—yrso—1y— 4 3 ’ins)g?ﬂ 1(70?:? 16-14 [ 36.4| 91.9 | 12 ;1_5; %\géi (i#)
L:NZ—ka21—-2 B:YY5-3 e
— . FhLists : - EHR ()
®@L=THN—H 4 5 e (11.110/3 2-2 38.3]90.2 | 10 ;1_%2) 2a
RiN=—HNE B ousO¥y+ 2 4s
PR # 3 | AEEN 1:10.1 13-12 | 37.2] 89.3 | 8 440 | BREE (EH)
R 5.0 (757 12) BRSHIHE—F L7 1> 5
R:d—IRYy 7T By Ry T seimEye]
NI & :10. = . . FEBFE (EX)
6l5liol®@7V s/ 17 i 5 e 11(;; 12-12 | 37.3| 89.3 | 7 f; it
R:TUF—Y BxTavu Lk =Eitie
N - =% :10. - . . AHESHE (FEX)
718l16| * T >¥avT7<x "4 BRE [ M el Rl g}) AR
gL FS 0 ML BiAR MO H—Fy b 3 & HAEAKS
8 g|TFINwY Ho4 gfgﬁ*ﬂ 71(1):)2 9-11  |37.7|88.4| 6 | 506 %/ﬂéiﬁe (®E®)
L:gLANC N BT Tb (-8) * s
3 3 ft 5 | BEAR 1:10.6 15-14 | 37.5| 84.8 | 9 464 | REFE— (EH)
9l1l2| 773 [B] #54.0 @ 1/2) 4o | TEAYITLY KI5
R:F—TTUS>F BRA—bETLyY b SUR MR
8 N = . 3 - 5
10 4| TATLRIZREN #H 3 56_5(3%)& 1.(110).8 4-4 38.8| 83.4 | 1 484 %X_ﬁ )
RHIRT4 ISR BTATLXTSA b (-4) ¥ % & HERHS
N . By . -
17| F-F-F770 # 3 i%.ob 1;({)::_9 22 |39.2| 827 | 3 | 494 i’rﬂgﬂz (®%)
L:d—IWRT7Y2—)b B:RXAZ—FT 7 (+4) =Sl
5 ft 3 | BBRE 1:11.0 6-6 38.8| 8.7 5 446 | BEAE (FR)
12011 ¥VART T2 54.0 (1/2) we) | ) s =xenx
R:¥XF B:Y7-Va FILE
. ft 3 | HRER 1:11.5 1-1 40.0| 78.3 | 15 | 508 |#k= (Ei#)
13713 #EZ 7 54.0 @ iz | 8 ks
LA bk—b BiALFT It B
5 —: 45 | AMERK 1:12.3 6-8 40.1| 71.9 | 14 | 514 | KEEE— (E#)
14/5|9 | ®@F7HT 44 4540 (®) 0 | W) ST 45Ty kR
R:/G1URN B:ovibwrL—X FEZ %Y K
o B3 | WHEsTE 1:12.6 4-5 40.6 | 70.0 | 13 | 448 |AREE (EiH)
15714 XT v Fv— L £52.0 (1 3/4) (o) |FREA
R:bo¥IO—U— BFUEXAFo—L @ E—
. ARiE#t : - HEE (E#)
1618115 TY—455>TY 4 3 N (17.1{5.*;1) 9-16 42.9| 52.6 | 16 zzg? A
L:TZ7TYRX BTV yIR-b e =
@ 71 L
) 49.5-38.1
NA>&4 L |9.5-10.6-11.4-12.5-12.6-13.0
® I —F—@EBIERL
13—7+—
2= =
Fol=5r= 13(7,12)-(4,14) (9,11)6(8,16,15)10(1,5)2,3
40—F— 13(7,12)-4,14(6,11)9(1,16)8(5,10) (3,2)-15
[ N3
H OB 6 830H 714K 1-6 4,360 e E 1-3 3,210 JEHE 1-3-6 87,230M
18 B 6 370M 3-6 3,450 B E 1-6 15,330 K31 6-1-3 459,590M
1 510 1-3 4,310 | | B E 6-1 31,620/
3 960F9

ABRICOVTHRTEEERROODE, THEB LS,




